f=2

*EEEDESHHOIELIIC. ENZENHEIIZZAT L&D,

70009 kg 2kg900g = g

10kg = g 1kglg = g

KX ZNZNDESZLBNT, = <, >ZDIDO>TILAXL& D,

7209 7kg 5kg30g 53009

1kg2g 12009 8200g 82kg
9kg100g - 4kgb00g — kg g
7kg90g + 2kgl100g — kg g
4kg80g - 2kg - kg g
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*XEEEDESHHOIELIIC. ENZENHEITZZAT L&D,

70009 7 kg 2kg900g = | 2900 g

10kg =] 10000 | ¢ Tkglg = 1001 g

KX ZNZNDESZLBNT, = <, >ZEDIDO>TCIAXL&D,

7209 < 7kg 5kg30g < 5300g
1kg2g < 1200g 8200g < 82kg

9kg100g - 4kgb00g — kg g
4, 600

7kg90g + 2kgl100g — kg g
9. 190

4kg80g - 2kg - kg g
2. 80
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